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>caaY `Y .1 X~WYaVfY ]` dYih ZU]fY Zfc]X ci bY][Yil) ^Y dfcdcgY ibY gcfh]Y dfcW\Y XY W\Yn bcig+ 
 
Icig b%]fcbg dUg z  W"4MMLcP) aU]g `Y aUh]b bcig dUfh]fcbg Yb X]fYWh]cb XY 
NUfh*?UaYg*<jY`]bYg+ <i dUggU[Y bcig X~Wcijf]fcbg `Y !@Z`WTY O"<ZWWP]^!% !?P 6Sk_PWP_! dcif hfUjYfgYf `U 
I60 Yb X]fYWh]cb Xi !;ZWQ OP WL 5]`cl]P! dcif fY^c]bXfY `Y gd`YbX]XY h]``Yi` bcaa~ !4]M]P OP WL 5]`cl]P!' GY 
hU`ig XY WYh UfVfY) gif `U `][bY XY g~dUfUh]cb XYg YUil) @gWUih r HYigY) bcig cZZf]fU ib jUghY dUbcfUaU+ Icig dcif*
fcbg jc]f `Y jUghY W\Uad X%~c`]YbbYg XY HUfVU]g Yh) X~dYbXUbh Xi hYadg) `Yg hYff]`g Xi CU]bUih U]bg] eiY `Yg ig]bYg 
>\UggUfh W~`}VfYg dcif `Yif BYb]}jfY+ <df}g ib dYh]h dUggU[Y Yb CU]bUih) bcig fYacbhYfcbg d`Y]b bcfX jYfg `Y 
>cad`YlY Ndcfh]Z XY NUfh*?UaYg*<jY`]bYg+ 
Icig Uifcbg `%cWWUg]cb X%m X~VU``Yf bchfY d]eiY*b]eiY Yh X%UWei~f]f ibY Vc]ggcb dcif `U dUigY XY a]X] Udf}g bchfY 
dUfWcifg X%ib Vcb ./_a Xi aUh]b+ 
 
<df}g `Y `ibW\) bcig fYdUfh]fcbg Yb X]fYWh]cb Xi Hci`]b XY 6SPaPWT[ZY_+ 
Q]U ib dUggU[Y Ui `]Yi X]h !?P^ D`L_]P^ 6SnYP^!% bcig fY^c]bXfcbg z hfUjYfg `Y !5ZT^ OP WL 5Za]mP! di]g `Y !5ZT^ 

O"<m!% `U WcaaibY XY OUb[]ggUfh+ Icig fYhcifbYfcbg U`cfg Yb dUggUbh dUf `Y !@Z`WTY OP 6SPaPWT[ZY_! jYfg bchfY 
dc]bh XY X~dUfh z Q]``Yfg*`U*Q]``Y+ >Y`U XYjfU]h ZU]fY ib dYh]h 6_a) UjYW fUWWcifW] dcgg]V`Y g] aUijU]g hYadg+ 
 
AV\Y UV\Z ` YLUKYL2 
 

>c*jc]hifU[Y Ui X~dUfh XY K]nnU*\ih z 5\0-+ 
I/2) gcfh]Y Q]``Yfg*`U*Q]``Y) dfYbXfY z [UiW\Y) UhhYbh]cb 4- $ 2-_a,\) fUXUf hf}g Zf~eiYbh dcif dUggYf z `%UfW\Y fYb*
jYfg~Y f~WYaaYbh XY `%<VVUmY+ 
KfYbXfY z Xfc]hY Yb X]fYWh]cb XY NUfh*?UaYg*<jY`]bYg gif `U I/43 
MYbXYn*jcig Ui dUf_]b[) UjYbiY <fg}bY OcifbUm)  Q]``Yfg*`U*Q]``Y) gif `U Xfc]hY XY `U I/43) (,*._a Udf}g `Yg dUf*
_]b[g XY `%UVVUmY+  
 
BLWhYLZ7 gif `U [UiW\Y ib `cb[ aif XY Vf]eiYg [f]gYg8 `%Ybhf~Y Xi dUf_]b[ Ygh gif `U Xfc]hY) ^ighY YbhfY `Y WfUmcb 
^UibY XY `%~Wc`Y Yh `U Wfc]l jYfhY XY `U d\UfaUW]Y+ 
 
N%]` m U XYg fUbXcbbYifg) UaUhYifg dcif ibY dUfh]Y Xi dUfWcifg ib]eiYaYbh) `%UXfYggY Xi >cad`YlY Ndcfh]Z XY NUfh*
?UaYg*<jY`]bYg Ygh 2.) >\Ya]b XY `U =fim}fY Xi >ce .162 NUfh*?UaYg*<jY`]bYg) z W�h~ Xi bcijYUi W]aYh]}fY+ 
 
?]ZZ]Wi`h~g 7 / Vcbg\caaYg+ 
 
MYbgY][bYaYbhg7 EYUb =UiXi]b 
fUbXc;VUiX\cgh+VY ci -.-,32 3. 23 ci -146,35 -6 -1 

 
 


